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20154£=100
& v | BIEEE] B [E] Al Bl
B 5 3 2 FRAL |BIERAL Akt ALt
2 (%) FHE (%) FHE
wE 101.9 1.7 0.1
BH 105.5 3.0 0.81 0.0 -0.01
EEE] 103.2 1.1 0.02 -0.2 0.00
arsE 108.2 3.7 0.09 -0.6 -0.01
A 1035 -0.1 0.00 0.7 0.02
ZLON%E 96.9 -26 -0.04 -1.3 -0.02
Fx-EE 120.7 15.2 0.43 0.6 0.02
2 123.9 10.6 0.14 0.2 0.00
SHAE - SRR 104.0 1.9 0.03 -0.1 0.00
% 2 é 104.3 2.3 0.06 0.6 0.02
FEE S 99.5 05 0.02 -05 -0.02
sk 99.3 -2.6 -0.04 -0.3 0.00
] 103.1 3.4 0.05 -0.8 -0.01
NE 102.5 1.3 0.06 0.0 0.00
ed 99.6 0.1 0.02 0.0 0.00
E3-1 99.2 0.1 0.01 0.0 0.00
R iEEE - 101.6 0.2 0.01 0.1 0.00
FEh-KE 101.7 49 0.36 0.6 0.05
BExR 101.1 6.7 0.25 0.5 0.02
HAEK 95.3 42 0.05 0.0 0.00
oSz 104.4 12.6 0.06 47 0.02
L TokEH 107.3 0.0 0.00 0.0 0.00
RE-REA& 99.8 0.9 0.03 -0.6 -0.02
RERAM A 101.3 5.3 0.06 -29 -0.04
FRNEHER 82.0 -139 -0.03 -3.4 -0.01
Eif}g 104.1 24 0.01 -0.9 0.00
REHE 101.8 -1.1 -0.01 -04 0.00
RERHE M 985 -0.2 0.00 2.9 0.02
REY—ER 99.8 0.1 0.00 0.0 0.00
HREUVEY 101.8 0.9 0.04 0.1 0.00
~H 102.1 0.6 0.01 0.7 0.01
%}@r‘zﬁ-t—a—- &% 100.3 5.4 0.06 -1.0 -0.01
¥ 100.4 -5.9 -0.04 0.0 0.00
1ﬁ3<b$&ﬂl§ ] 106.0 1.0 0.00 0.0 0.00
i AR EEEH —E X 104.0 0.0 0.00 0.0 0.00
RRERER 101.5 15 0.06 0.5 0.02
= m-EREARIFAERRA 99.4 1.0 0.01 1.2 0.01
REEEAM-FE 97.7 -1.6 -0.01 1.0 0.01
FEEEY—EXR 104.3 3.0 0.06 0.0 0.00
- iE{‘ 99.3 1.1 0.19 0.4 0.07
RE 98.8 -0.2 0.00 -0.2 0.00
E HEFHERE 101.1 1.7 0.20 0.6 0.07
BiE 94.9 -0.1 0.00 0.0 0.00
#HE 103.3 14 0.03 0.0 0.00
BRENE 105.2 2.3 0.03 0.0 0.00
HEE-2ESELHM 101.0 0.1 0.00 0.0 0.00
HEHRE 100.0 0.0 0.00 0.0 0.00
HEAR 102.0 0.7 0.07 0.3 0.03
%ggbx == rmmﬁar 103.4 -29 -0.01 1.8 0.01
5252 FH S 100.6 0.1 0.00 -15 -0.03
E5E- ﬁﬁwﬁnﬂlw 101.2 0.5 0.01 -0.1 0.00
HERBETG—ER 102.7 14 0.07 1.0 0.05
HME 101.8 0.8 0.05 0.0 0.00
HERY—ER 100.6 -0.3 0.00 0.0 0.00
BEREAR 99.2 1.7 0.03 0.1 0.00
SDEYHAR 108.2 0.5 0.00 0.3 0.00
=IES 102.8 1.1 0.00 0.0 0.00
M E 102.0 0.6 0.02 0.0 0.00 |
B REkRis 101.0 1.1 1.08 0.2 0.16
YEHBRRUIRILY—42RR<BE 100.9 0.6 0.49 0.0 0.04
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Mz ! H ! | Mz ! H ! | Mz ! H ! |
?ﬁ‘ ;& W Al ?ﬁ‘ ;& W Al ?ﬁ‘ ;& W Al
H (00) H (00) H (00 H (00) H (00 H (00)
MRk 254 96. 6 0.4 96. 6 0.2 96. 6 0.4
26 99. 2 2.7 99. 1 2.6 99. 2 2.6
27 100. 0 0.8 100. 0 0.9 100. 0 0.8
28 99.9 0.1 100. 0 0.0 99.7 -0.3
29 100. 4 0.5 100. 6 0.6 99. 9 0.3
29/2 99. 8 0.3 -0.1 100. 2 0.6 0.2 99.5 0.0 -0.4
3 99.9 0.2 0.1 100. 2 0.6 0.0 99.3 -0.3 -0.1
4 100. 3 0.4 0.4 100. 3 0.4 0.1 99. 7 0.2 0.4
5 100. 4 0.4 0.1 100. 5 0.6 0.2 100. 0 0.2 0.3
6 100. 2 0.4 -0.1 100. 3 0.6 0.2 99. 8 0.2 0.2
7 100. 1 0.4 0.2 100. 3 0.6 0.0 99. 7 0.2 -0.1
8 100. 3 0.7 0.2 100. 7 0.7 0.4 100. 1 0.5 0.4
9 100. 5 0.7 0.2 100. 9 1.0 0.2 100. 1 0.4 0.0
10 100. 6 0.2 0.0 100. 9 0.1 0.0 100. 3 0.2 0.2
11 100. 9 0.6 0.4 101.2 0.5 0.3 100. 4 0.4 0.2
12 101. 2 1.0 0.3 101. 3 0.7 0.1 100. 5 0.6 0.1
30/1 101.3 1.4 0.1 101. 7 1.3 0.4 100. 8 0.9 0.3
2 101. 3 1.5 0.0 101.9 1.7 0.1 100. 9 1.4 0.1
fif] (L il Jin 5 il ] [ il
AAE 1 LR LR
A & %% <|atf> DET | FE O <|atf> DET | FE O <|atf> DRI
(%) (%) L () 1 (%) L (%) 1 (%)
Rk 254 96. 9 0.2 96.1 0.1 96. 6 0.0
26 99. 4 2.5 98.5 2.5 99. 3 2.7
27 100. 0 0.6 100. 0 1.5 100. 0 0.7
28 99.9 0.1 100. 0 0.0 100. 0 0.0
29 100. 5 0.6 100. 4 0.3 100. 5 0.5
29/2 100. 2 0.9 0.1 99. 8 0.0 -0.2 99. 7 0.2 0.4
3 100. 1 0.6 -0.1 99.8  -0.1 0.0 99.9 0.3 0.2
4 100. 2 0.2 0.0 100. 3 0.2 0.6 100. 3 0.2 0.4
5 100. 5 0.5 0.3 100. 4 0.3 0.1 100. 4 0.2 0.1
6 100. 5 0.6 0.0 100. 3 0.1 -0.2 100. 3 0.2 -0.1
7 100. 2 0.6 0.3 100. 2 0.5 -0.1 100. 3 0.5 0.0
8 100. 4 0.8 0.2 100. 3 0.6 0.1 100. 7 0.7 0.3
9 100. 7 0.6 0.3 100. 5 0.8 0.2 100. 8 0.4 0.1
10 100. 9 0.4 0.2 100. 6 0.0 0.1 101.0 0.6 0.3
11 100. 9 0.4 0.0 100. 9 0.4 0.3 101.2 1.0 0.1
12 101. 0 0.8 0.0 101. 0 0.8 0.2 101. 2 1.2 0.0
30/1 101. 2 1.0 0.2 101. 5 1.5 0.5 101. 5 1.3 0.3
2 101. 1 0.9 0.1 101.2 1.4 -0.3 101. 7 1.9 0.2
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3 & ® #k = & B - ok E FE - FEAS R 2O BY 7’ o’ E B
B THE B THE B THE A
GENE -] ﬁ:(mﬁ):ﬁﬂﬂw bt ﬁ:(lﬁll:f):ﬁﬁﬂbb 8 ﬁ:(mﬁ):ﬁﬂﬂw bt ﬁ:(lﬁll:f):ﬁﬁﬂbb Eict ﬁ:(mﬁ):aﬂﬂw bt &:(Iﬁif):aﬁﬂtt BE :(T):ﬁuﬂtt
L) () L) L (%) L) () L) L (%) L) () L (%) (%) L) (%)
VEZAY 10000 2617 1862 753 374 437 424
254F | 96. 6 0.2 92.3 0.2 100.0 -0.3 97.9 2.0 94.7 -2.1 99. 8 0.9 97.9 -0.6
264F | 99. 1 2.6 96. 2 4.2 100. 1 0.0 102. 4 4.6 97.2 2.7 100. 4 0.6 98.8 0.9
274F [100. 0 0.9 100. 0 4.0 100.0 -0.1 100.0 -2.3 100.0 2.9 100.0 -0.4 100.0 1.2
284F [100. 0 0.0 101.8 1.8 99.8 0.2 94.9 -b.1 99.9 0.1 102.7 2.7 100.5 0.5
294F [100. 6 0.6 102.3 0.5 99.5 -0.3 99.4 4.8 99.7 0.2 103. 1 0.3 101.0 0.5
29/2 [100. 2 0.6 -0.2 [102.4 0.7 -0.5199.5 -0.2 -0.41096.9 1.2 0.8 198.9 -0.6 -1.3 [101.0 1.3 -0.2 [100.0 0.3 -0.5
3 100. 2 0.6 0.0 [[102.3 0.7 0.0 199.4 -0.4 -0.11]097.6 2.7 0.7 1980 -1.1 -0.9 [100.4 -1.1 -0.5]100.6 0.5 0.5
4 100. 3 0.4 0.1 [[101.8 0.4 -0.5199.4 -0.4 0.0 | 98.5 4.1 1.0 [98.0 -3.0 0.0 [103.0 0.0 2.5 1100.4 0.4 -0.1
5 100. 5 0.6 0.2 [[101.8 0.4 0.0 199.4 -0.5 0.0 [99.9 5.0 1.4 {97.5 -1.3 -0.6 |103.9 1.0 0.9 | 100.8 0.3 0.4
6 100. 3 0.6 -0.2 [101.6 0.8 -0.2199.4 -0.4 0.0 [100.3 6.1 0.4 ]98.6 0.5 1.1 [104.0 1.4 0.1 |100.2 -0.6 -0.6
7 100. 3 0.6 0.0 [[101.4 0.5 -0.2199.4 -0.4 0.0 [100.1 6.4 -0.2 |101.5 1.9 3.0 |102.5 1.6 -1.5(100.4 -0.7 0.2
8 100. 7 0.7 0.4 [[102.5 0.5 1.1 199.4 -0.4 0.0 [100.2 6.9 0.1 [100.4 0.8 -1.1100.7 -0.2 -1.7 (102.2 1.3 1.8
9 100. 9 1.0 0.2 [[103.0 1.4 0.4 199.5 -0.2 0.1 [100.2 7.3 0.1 [100.4 0.2 0.0 [105.3 0.3 4.6 | 102.1 1.9 0.0
10 |100.9 0.1 0.0 [[102.0 -1.5 -0.9]99.5 -0.3 0.0 [100.4 5.7 0.2 |100.9 -0.4 0.5 (1056.1 -0.1 -0.2 |101.5 0.8 -0.6
11 |101.2 0.5 0.3 [[102.5 -0.6 0.5199.5 -0.2 0.0 [102.3 7.3 1.8 [100.7 0.8 -0.2 |105.6 -0.5 0.4 | 101.7 0.7 0.2
12 |101.3 0.7 0.1 [[103. 1 0.5 0.6 199.6 0.0 0.1 [100.9 5.3 -1.4 |101.1 -0.3 0.4 (104.1 -0.8 -1.4]101.6 0.8 -0.2
30/1 [101.7 1.3 0.4 [[105.5 2.6 2.3199.6 -0.3 0.0 [101.1 5.2 0.2 [100.4 0.1 -0.7 |101.7 0.6 -2.3101.0 0.4 -0.6
2 101.9 1.7 0.1 [[105.5 3.0 0.0 | 99.6 0.1 0.0 (101.7 4.9 0.6 [ 99.8 0.9 -0.6 [101.8 0.9 0.1 (101.5 1.5 0.5
%@ - miE | % | &% omox | B oE 2 |seeanrmes[THREROSIY
LR R LR R LR R
A B (AR RUAK|HE B (AA) RIAK|HE B (AA) Ak 80 (AA) sAK|R 3 (AA) MAk|HE & (AA) #Ak
LW Ul LW Ul LW Ul
L (%) (%) L% (%) L (%) (%) L% (%) L (%) (%) L% (%)
VEZE 1735 213 906 679 9581 8698
254F [100. 1 1.4 97.2 0.6 94.8 -1.0 95. 4 1.0 97.2 0.3
264F [102.7 2.5 98.8 1.7 98.1 3.5 98.8 3.6 99. 4 2.3
274E [100.0 -2.6 100. 0 1.2 100.0 2.0 100. 0 1.2 100.0 0.6 100. 0
284 [ 97.7 -2.3 101. 4 1.4 101. 1 1.1 101. 1 1.1 99.7 -0.3 100. 6 0.6
294F | 98. 2 0.4 102. 8 1.4 101.6 0.5 101. 3 0.3 100. 4 0.7 100. 7 0.2
29/2 | 98.1 1.1 -0.1 [101.8 1.5 0.0 |101.2 1.4 0.4 [101.0 0.2 -0.6[99.9 0.5 -0.2 |100.3 0.1 -0.3
3 97.7 0.7 -0.4 |101.8 1.5 0.0 |101.7 1.6 0.4 [101.7 1.0 0.7 [100.0 0.6 0.1 [100.4 0.0 0.0
4 98.2 0.6 0.5 [102.3 0.6 0.5 [101.4 0.0 -0.3 |101.9 0.4 0.2 (100.2 0.4 0.2 (100.5 -0.2 0.2
5 98.2 0.6 -0.1 |103.3 1.5 0.9 |101.7 0.9 0.3 [101.7 0.5 -0.2 [100.4 0.7 0.2 [100.7 0.2 0.2
6 97.9 -0.5 -0.3 [103.3 1.5 0.0 [100.8 0.3 -0.8 |101.4 0.4 -0.3 [100.4 0.8 0.0 [100.7 0.4 0.0
7 97.8 -0.2 -0.1 [103.3 1.5 0.0 [100.9 0.1 0.1 (101.0 -0.1 0.4 |[100.4 0.8 0.0 [100.8 0.4 0.1
8 97.7 0.0 -0.1 |103.3 1.5 0.0 |102.3 0.5 1.4 |101.1 0.1 0.1 [100.4 0.8 0.1 [100.8 0.2 0.0
9 97.7 0.4 -0.1]103.3 1.5 0.0 [101.4 0.1 -0.9 |100.9 -0.6 -0.2 [100.6 1.1 0.2 [101.0 0.5 0.1
10 | 98.6 0.9 1.0 [103.3 1.5 0.0 |101.9 -0.5 0.5 [101.1 0.0 0.2 [100.8 0.8 0.2 [101.0 0.1 0.1
11 98.7 0.4 0.0 [103.3 1.5 0.0 [102.3 0.1 0.4 [101.2 0.2 0.1 [101.0 0.8 0.2 [101.0 0.0 0.0
12 199.0 0.3 0.4 [103.3 1.5 0.0 |102.5 0.9 0.2 [101.6 0.1 0.4 [101.0 0.7 -0.1 |101.0 0.1 0.0
30/1 1 98.8 0.6 -0.2 |103.3 1.5 0.0 |101.7 0.8 -0.8 |101.7 0.1 0.2 [100.8 0.8 -0.1 |100.8 0.2 -0.2
2 99. 3 1.1 0.4 (103.3 1.4 0.0 [102.0 0.7 0.3 [101.8 0.8 0.0 [101.0 1.1 0.2 [100.9 0.6 0.0
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29/2 |100.2 [102.4 1102.1 1104.3 1103.5 ! 99.5 1104.8 $112.1 1102.1 1101.9 ! 99.0 '102.0 } 99.8 '101.2 | 99.5 ! 99.1 :101.3 ! 96.9
3 |100.2 |102.3 5102.2 5105.0 5104.7 99.1 5100.9 5112.8 5101.4 5104.3 99. 1 5101.7 iloo.o 5101.2 99. 4 99. 1 5100.7 97.6
4 [100.3 |101.8 1100.3 1106.4 1107.8 1100.1 1 99.6 1103.3 1101.8 1103.1 1 97.4 1101.5 1100.0 :101.2 | 99.4 : 99.1 1100.9 i 98.5
5 [100.5 |101.8 1102.7 1103.8 1106.7 | 98.3 1 99.0 1106.7 1100.5 1103.8 ! 98.6 1101.7 1100.0 101.1 | 99.4 ! 99.1 !100.9 | 99.9
6 [100.3 |101.6 2100.7 5104.9 2109.3 98.4 96.4 5102.2 ilOO.S 5102.7 98. 2 5100.9 2102.6 5102.1 99. 4 99. 1 5100.9 100. 3
7 [100.3 [101.4 1100.3 1105.0 1106.3 | 97.8 ! 94.9 1100.6 102.6 '103.6 | 99.5 1100.4 1103.5 1102.1 | 99.4 | 99.1 1100.9 | 100. 1
8 [100.7 |102.5 5101.4 5106.1 5106.7 97.9 98.4 5116.7 5102 1 5103.6 99. 4 99.4 5102 1 5102 1] 99.4 99. 1 5100.9 100. 2
9 [100.9 [103.0 1103.0 1110.2 1102.8 | 97.8 1104.5 1102.3 1103.3 1103.4 1100.2 } 99.9 1104.2 1102.1 | 99.5 : 99.1 101.4 ! 100.2
10 [100.9 {102.0 {1023 1106.7 1102.5 | 97.8 1100.3 | 99.4 1102.7 1102.9 1100.7 1100.0 }103.1 '102.5 | 99.5 | 99.1 :101.4 | 100.4
11 |101.2 |102.5 5103.1 5106.0 5103.8 97.8 5107.0 97.4 5103.6 5102.3 98.5 5100.6 5104.1 5102.5 99.5 99. 1 5101.4 102. 3
12 1013 [103.1 1102.3 1107.3 1102.6 | 98.7 1109.1 1107.3 1103.7 $103.2 | 97.6 '100.3 1103.9 1102.5 | 99.6 : 99.2 ! 101.4 ! 100.9
30/1 |101.7 |105.5 2103.4 5108.8 2102.7 98.2 2120.0 5123.7 2104.1 5103.6 ilO0.0 99.6 2103.9 5102.5 99.6 99. 2 5101.4 101. 1
2 [101.9 |105.5 1103.2 1108.2 1103.5 | 96.9 1120.7 '123.9 '104.0 '104.3 ! 99.5 | 99.3 1103.1 !102.5 | 99.6 ! 99.2 '101.6 ! 101.7
Ed w
o B 2 O R B B I B R ® z
. |, g | o | mIw s [C] T
- » o | Flom | oy L
5| % & £ | A/ P N
A ¥ = () e H I | |
i = e i £ . & T §|7
gl e o lwle ol eslal e s lmw|m| s s|;
29/2 | 94.8 91.4 92.8 5107.3 98.9 96. 2 95.3 5101.7 5102.8 98.7 99.6 |101.0 5101.4 §1oo.o 5101.7 95.2 93.0 100.3
3 |96.0191.8192.81107.3|98.0194.3 192.4 1101.5 1103.4 1 97.7 1 99.8 [100.4 1102.2 1100.0 1102.6 | 93.8 | 92.6 | 96.6
4 | 97.7192.2192.81107.3 | 98.0 1 92.8 1 93.7 1102.1 1103.1 | 99.4 | 99.8 |103.0 '103.7 ! 97.0 1104.8 | 101.7 ! 103.3 | 97.8
5 [100.2 92.6 92.4 5107.3 97.5 93.1 90.0 5102.6 5102.8 97.6 99.8 [103.9 5105.1 97.0 5106.5 102.9 5106.1 95.5
6 [100.9:92.7192.41107.3 | 98.6 1 98.4 | 92.4 1102.6 1101.8 | 95.6 | 99.8 [104.0 1105.0 : 97.0 1106.4 | 103.7 1106.9 | 96.2
7 |100.7 92.8 90.8 5107.3 101.5 5107.2 90.3 5101.2 2102.2 96.9 99.8 [102.5 2103.1 97.0 2104.1 99. 4 5100.4 97.1
8 [100.8 1 93.0 ! 90.8 1107.3 |100.4 1104.7 | 86.4 1100.8 1102.4 ' 96.5 ' 99.8 [100.7 1102.8 | 97.0 1103.8 | 94.6 ' 93.3 | 97.8
9 |100.9 | 93.1! 90.8 !107.3 [100.4 {103.4 | 88.8 ! 99.5 !102.8 | 97.7 | 99.8 |105.3 1105.0 | 97.0 !106.4 | 108.4 ! 113.5 | 96.4
10 |100.8 93.1 94.3 5107.3 100.9 5106.8 88.8 99.5 5101.2 96.8 99.8 [105.1 5104.4 97.0 5105.7 109. 1 5113.8 98.0
11 |100.4 1103.2 | 97.8 1107.3 [100.7 1107.9 | 86.8 ! 99.9 1100.6 ! 95.2 ! 99.8 |105.6 1104.5 ! 97.0 1105.9 | 109.3 1114.0 | 98.4
12 |100.2 95.3 99.8 5107.3 101. 1 5106.9 85.8 5104.7 5101.1 96.2 99.8 [104.1 5104.5 97.0 5105.8 105. 0 5107.7 98.4
30/1 [100.6 ' 95.2 ! 99.8 1107.3 |100.4 '104.4 ' 84.9 1105.0 1102.1 : 95.8 | 9.8 |101.7 1101.3 ! 97.0 '102.1 | 101.2 1102.4 | 98.5
2 |101.1 95.3 2104.4 5107.3 99.8 5101.3 82.0 5104.1 2101.8 98.5 99.8 [101.8 2102.1 97.0 2102.9 100. 3 5101.6 97.0
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29/2 |106.7 1105.0 1104.0 |100.0 ! 98.4 1 99.3 1101.3 | 98.1 1 99.0 ! 99.4 | 95.0 [101.8 1102.9 1100.9 1100.0 |101.2 {106.4
3 | 98.2!112.6 !104.0 |[100.6 | 99.0 !101.0 '101.3 | 97.7 !100.5 | 99.5 ! 92.6 [101.8 !102.9 !100.9 }100.0 |[101.7 }105.2
4 99.4 1108.1 1104.0 |100.4 1100.0 : 99.1 1101.3 | 98.2 1 98.8 1 99.3 1 95.4 [102.3 1103.7 :101.0 :100.0 |101.4 {105. 4
5 | 99.4 1108.1 1104.0 [100.8 102.1 1 97.9 1101.3 | 98.2 ! 99.1 ! 99.1 ! 95.6 [103.3 1105.2 '101.0 '100.0 [101.7 {103.6
6 | 99.4 1108.1 !102.9 [100.2 ! 99.8 | 98.4 !101.3 | 97.9 } 98.7 } 98.5 | 96.2 |103.3 }105.2 |101.0 |100.0 |100.8 {100.9
7 [102.7 '108.1 1102.9 [100.4 1100.6 } 98.1 1101.3 | 97.8 '101.9 ! 98.0 ' 96.2 |103.3 '105.2 '101.0 '100.0 [100.9 | 99.6
8 |101.6 '104.1 1104.0 [102.2 !101.6 | 98.1 !104.3 | 97.7 !103.4 | 98.4 ! 94.5 |103.3 !105.2 !101.0 }100.0 |102.3 i 99.6
9 [102.4 1103.4 1104.0 [102.1 1101.3 | 98.3 1104.3 | 97.7 1 99.8 1 98.9 1 94.1 |103.3 1105.2 1101.0 1100.0 |[101.4 | 98.3
10 |100.5 1106.9 1102.0 [101.5 ' 99.3 | 97.9 '104.3 | 98.6 1100.0 '100.0 ! 95.0 |103.3 1105.2 1101.0 1100.0 |101.9 {100.5
11 [102.3 1106.2 1104.0 {101.7 | 99.9 | 98.0 1104.3 | 98.7 | 99.5 1100.1 | 95.1 |103.3 105.2 }101.0 1100.0 [102.3 {101.2
12 [102.3 1102.2 1104.0 [101.6 : 99.8 : 97.5 1104.3 | 99.0 1100.2 :100.5 : 95.1 |103.3 1105.2 1101.0 1100.0 [102.5 {102.0
30/1 [100.4 :106.0 1104.0 |101.0 : 98.3 : 96.8 1104.3 | 98.8 : 99.0 1100.5 1 94.9 [103.3 1105.2 :101.0 :100.0 |101.7 {101.6
2 [100.4 1106.0 :104.0 [101.5 : 99.4 : 97.7 1104.3 | 99.3 : 98.8 :101.1 ! 94.9 |103.3 1105.2 :101.0 $100.0 |[102.0 {103.4
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29/2 [100.5 1100.7 !101.2 |101.0 '100.9 ! 97.5 !107.6 !101.7 !101.4 | 95.3 |102.4 [101.1 | 97.8 |107.8 1108.7 !104.7 !111.7
3 [102.1 1100.6 1101.4 [101.7 $100.9 1100.5 1108.1 :101.7 :101.4 | 96.2 |{102.5 [101.7 | 97.8 [105.3 1108.3 : 98.4 :112.4
4 | 99.0 1100.6 1102.3 [101.9 '100.6 '100.4 '107.6 1102.4 101.9 | 97.0 |102.9 |101.1 | 97.8 [102.5 1110.0 ! 96.7 '102.6
5 [100.5 1100.8 1102.2 |101.7 {100.6 :100.2 !106.1 :102.4 101.9 | 97.7 [103.5 {101.4 | 97.9 [101.4 1106.0 | 94.9 :106.
6 | 99.0 1100.9 1101.7 [101.4 1100.6 | 99.1 1105.6 1102.4 1101.9 | 96.9 |103.5 |100.4 | 97.9 | 98.8 1107.3 i 90.6 1101.3
7] 99.0 1100.9 1101.9 |101.0 1100.6 | 98.6 1102.6 1102.4 11019 | 96.1 |103.5 |100.8 | 97.9 | 97.6 1107.5 | 88.7 | 99.7
8 [100.4 1100.8 1103.7 [101.1 1100.6 ! 99.1 1102.0 :102.4 :102.0 | 96.8 |103.5 |102.3 | 96.4 [105.4 1110.1 : 94.6 116.6
9 [100.6 $100.7 1102.2 [100.9 1100.6 | 99.0 1100.0 1102.4 102.0 | 97.3 [103.5 |101.0 | 96.4 |106.9 1116.0 1103.5 $101.4
10 100.2 1100.8 1103.0 [101.1 1100.6 i 98.3 1103.4 1102.8 1102.0 | 98.9 [103.5 |101.6 | 96.4 [101.9 i111.0 : 97.2 1 98.4
11 [101.7 1101.1 1103.0 [101.2 1100.6 ' 98.9 '102.7 1102.8 1102.0 [101.0 |103.5 |101.9 | 96.4 [105.0 1108.7 1107.7 | 96.3
12 |103.7 }101.1 ;102.3 [101.6 !100.6 | 98.7 !107.4 ;102.8 }102.0 [100.5 |104.6 |102.1 | 96.4 [109.8 |111.0 |110.9 :106.7
30/1 [102.1 !101.3 '101.6 |101.7 !100.6 ! 99.1 '107.9 1102.8 1102.0 |100.6 |104.6 [101.2 | 96.2 [122.4 '113.0 1128.5 123.9
2 |100.6 !101.2 1102.7 [101.8 :100.6 | 99.2 :108.2 ;102.8 :102.0 [102.0 [104.9 |101.4 | 96.2 [121.9 !110.3 }129.2 !124. 1




